EMC2020 1/51

............................................................ 3
L 3
1.2 ...6
1.2.1 6
1.2.2 10
1.2.3 13
L2 A 14
1.2.5 PID 17
.......................................... 19
2.1 ...19
2.2 .20
2.3 21
2 A 22
............................................. 23
0 23
B 24
B 25
.......................................... 26
A1 26
4.2 227
A 2.0 27
4.2.2 28
4.2.3 29
4.2.4 32
4.3 .32
P 32
P 33
T 33

1/51



EMC2020 2/51

~N o~

R 33
................................................ 35
L 35
2 ...36
B 38
...................................................... 39
1 39
2 40
...................................................... 42
L 42
T.L1 42
T 1.2 43
70 44
T.1.4 48
T.1.5 49
7 50
O 51
T.1.8 52
c 53
.3

2/51



EMC2020

3/51

1.1

3/51



ZZZZZZZ




EMC2020 5/51

~N
\

5/51



EMC2020

6/51

EIMO401DP

PID

6/51



EMC2020 7/51

1.2

1.2.1

1000r/min

7/51



ZZZZZZZ




ZZZZZZZ




EMC2020 10/51

1.2.2

10/51



2222222

- Wi moy

T wmaa) 360015

el

| LD
. mes) [asolg

rw




2222222

] Wi mii)

T

e
BT

| )

| wai
| el




EMC2020 13/51

1.2.3

® 1

EPSON

PID

13/51



EMC2020 14/51
i

® @ -
& & & @ S @t
[

|
= 000.0 k=
L]
(M

1.2.4

:

400.0

 460.0 Iy

14/51



EMC2020 15/51

328£5$!

3600

10

3800

3250 fm

15/51



EMC2020 16/51

|
_5 MPa

.60 =
MPa

16/51



EMC2020 17/51

1.2.4 PID
e PID
. SP- SI- Sd- P 1 d /

SP-

. . SI-Sd-SP-SI...

P 1 D

17/51



EMC2020 18/51

e PID

18/51



EMC2020 19/51

4
2.1
°
M-n
P1'x
:I.OOO[I , \ T T
80% l
/ P1c>\
P1’a<P1’b<Pl'c 7
%?60% // <
£ / \
© [ R
40% / 7 —
A R N
M-n / N A . P
204 4 = —f—
A T | AR
P1x R /<;/4f¢. IR N S e -
/ o SEEY I o
0 1000 2000 3000 4000 5000
(r/min)
Pla<P1b<Plc
°
M=n 100% \
Pid\ ]
80% / S \
17
60 —— N
% / /‘ /// \\
& // 7 N I 2 e Sy
I/ — 1
40% / / 7 Pla
) ) I
/ 4
20% / / LA
0
i
/
V.
0 1000 2000 3000 4000 5000

(r/min)

19/51



EMC2020 20/51

2.2

n-M
ML W4

/J \ - L
!

80%
N
\
> 60%
§ M3
& / —
40%
] o
3

20% /
/ M1

0 1000 2000 3000 4000 5000
(r/min)

1009 \ T T
80% /, M4 \\
N ~|
& f —
M2
40% /
/ M1
20% /
0 1000 2000 3000 4000 5000
(r/min)

20/51



EMC2020

21/51
n-m
ni ™
n O_nnax ’ nmax
1009 J \\ T T
80% // \
::60%
@ 4
£ —
< —
n3
40% /
// n2
20%
n5 nl
0 1000 2000 3000 4000 5000
(r/min)
1009
< 60% 3
x n3 N
[
£ I~
= / n ng T
40%
/ nl
/ n5
20% ,
0 1000 2000 3000 4000 5000

(r/min)

21/51



EMC2020 22/51

2.4

n-M
ki1 k5

M:knz k O—ZMF/nFZ

100%
| \
k5

L

=~ ‘//
N

60% /

/ / T

VAR
/ ; A 1A 1/
/ / // // / e

(% Mmax)

20% e
' / jr e 7 7 7
/ ~ ~ - =7
o~ L - T ”_/’
[ o A
0 1000 2000 3000 4000 5000
(r/min)

1009 I I
A i
1
80% / 7 \\
L TN
£ / / / >
= / y
N/
/ / / 2a
40% / KA
/ // - . / ki
)
A
20% / / // s //
' / el 11/4, - -~
S L~ d —
// /- —— A /f»' — -
=
0 1000 2000 3000 4000 5000
(r/min)

22/51



EMC2020

23/51

n-M
n-M
1009
80% /
AGO% — K \ .—
3
: i |
© LT T
AR
\\ \ \\ \\
\Pza Pib \ch bod pze(ma]x)
0 1000 2000 3000 4000 5000
(r/min)
1009
80% ,
al T <
< 60%
g ~ B R <
= 1 N
£ = 1 N
// ™~ \
40% =
' | - N \ \
— — \\ D E ;
] I \ Y 2d
20 e — 2e
— N \P2b \
NELGR \\
28
\i\ \"\ \ \ \
0 1000 2000 3000 4000 5000
(r/min)

23/51



EMC2020 24/51

3.2
n-m
100¢ 1 T
80% f
1 e 1&
///
60% e .
4]
E |
S —
40% \
20%
nl n2 n3 n4 n5 n6
7 \
0 1000 2000 3000 4000 5000
(r/min)
1009 T T
80%
/,,——-—"J‘Zi«- \\J(/’
60% g -
50 A
£
& \
40% ‘\\
20%
\
nl n2 n3 n4 n5 N n7 \
0 1000 2000 3000 4000 5000

(r/min)

24/51



EMC2020

25/51

3.3

n-m
1009
80% /
I B e TN
6o — M ) ——
@©
£ . \
o*: Wiz
S \‘ P
40% M3 \
M4
20%
M5
M6
0 1000 2000 3000 4000 5000
(r/min)
1009 ] L_
80%
/,,————J‘{i&g \\‘//
260%
x A
: 5 N
S N A\
40% \\\
M3
20% 2 \\
M1
\
0 1000 2000 3000 4000 5000

(r/min)

25/51



EMC2020

26/51
4
4.1
100
80%
\ /
\ X
2606 / S Y%
T ' ~
g - - -
40% . :
N
\\
P2d ~
20
0 nmaX

26/51

max



EMC2020 27/51
4.2
4.2.1
l l
. p3
! ! p2 nl n3
pl ®
2 ® i
@ | [
£
<
- N NMiax
k3
0 k2
: k1
e o
~ i ®
3 ! e
=
=
Q\D/
n Npax

max

27/51



28/51

EMC2020
4.2.2
{
x P
I
p2 n
~
2 @
= P
t\i [ ®
®
P Pmax
I max
N o max
k3
k2
I k1
M3
-~ ® 1
% ®
£ M2
e * o
@
. v L]
I_ [}
P ! Prac
n nmax

max

28/51



29/51

EMC2020

4.2.3

k2

k3

ML |

__ll_ .-

(xewp %)

(xewy %)

max

max

29/51



30/51

EMC2020

nmax

k2

k1

k3

k3

M4

X

Ny

(xewn %)

(xeuwn %)

30/51



31/51

EMC2020

nmax

k2

k3

M3

M1

M1

<

no

Pl

P3

M1

\

(xewn %)

(xeuwn %)

31/51



EMC2020 32/51

4.2.4

®

°

4.3

3000r/min 340Nm 6105 EIM0O401
4.3.1
EIMO401 0301
8
1000r/min 9
3000r/min  1000r/min 250r/min 9
8 10

32/51



EMC2020 33/51

11 25 30
5 6
4.3.2
8
2-3
4.3.3
1000r/min 250r/min 9
2750r/min
2-3
2-3

4.3.4

3000r/min 2750r/min

33/51



EMC2020 34/51

2750r/min

2-3

2-3

34/51



EMC2020 35/51
9 PID
5.1
PID
PID
éb :1 l 'f-A U: //\\ - — \\\—/“.’; .
SRR I N it S I VA
T PU /. % /
- /
o /
EIMO401 1 0-31

32 EIMO301 16
PID

PID

35/51




EMC2020 36/51

P P |
D — D
D P I D
P 1 D
D P 1
5.2
PID PID
° PID
PID
PID
PID
PID 5.1
I
| 10
EIMO301 5
° PID
PID
PID

36/51



EMC2020

37/51

5.1

PID

PID

PID

PID

PID

PID

PID

37/51



EMC2020 38/51

5.2
PID
PID
° PID
PID
PID 5.1
1 | 10 EIMO301 5
° PID
PID
PID
5.1 PID
P
P
PID
I
PID
° PID
PID

38/51



EMC2020 39/51

_r (n—nMAx)dt>400

50

600r/min

39/51



EMC2020 40/51

| (Pun-P)dt>0.2

40/51



EMC2020 41/51

7
7.1
EMC2020
EMC2020
e ENMC2020
+ 0.2% + 0.5% [+ 0.01%
+ 0.3% | = 5% + 2% +10% |+ 0.3% [ + 1% + 1% + 3% + 0.1%
+ 0.5% | £ 1% + 1% + 2% +0.3% | £ 1% + 1% + 3% + 0.1%
+ 0.5% | = 1% + 3% + 5% +0.3% | £ 1% + 1% + 3% + 0.1%
+0.5% | £ 1% + 3% + 5% +0.3% | £ 1% + 1% + 3% + 0.1%
+ 0.5% | = 1% + 3% + 5% +0.3% | £ 1% + 1% + 3% + 0.1%
+0.5% | £ 1% + 2% + 3% +0.3% | £ 1% + 1% + 3% + 0.1%
7.1.1
([ ]
T 5%

EMC2020 % Zh#/l #2285 o

41/51




EMC2020 42/51

“ SET-

50 50

42/51



ENMC2020 43/51
7.1.2
0000
1.
2.

Vr»=300-1000mV

k=10000X(Z f./Z n,-1)
k

43/51



EMC2020 44/51

7.1.3

2. 0.1mv, 0.01mv

30

g A~ W N

44/51



EMC2020

45/51

= )

h(kg) 0

li (mV)

L(Nm)

li(mV)

1, (Nm)

i (MV)

T (Nm)

i(mV)

1,:(Nm)

i (mV)

T (Nm)

Vis(MV)

Miai (Nm)

Voai (MV)

MDAi(Nm)

Vau(mV)

M (Nm)

DV, (V)

DM; (Nm)

EVi(nV)

EM; (Nm)

%

%

Nm/kg

VDNfl

%Nfl

45/51




EMC2020 46/51

1. V|Ai:(1V|i+2V|i)/2 M|Ai:(1M|i+2M|i)/2 i=1 N

2. Voai=(WVoi+2Voi )72 Moai=(IMoi+2Mpi) /2 i=0 N-1

3. Ve (ViitVoi )72 Ma=(Mii+Moi ) /2 i=1l N-1

4. DVi=( Voi = Vii) DMi=( Moi - Mii) i-1l N-1

5. G=Z (Vi = Va)/Z (Wi- W) mV/Zkg, G= Z (Mai - Mu)Z (Wi- W) Nm/kg
i=2 N-1

6. EVi:(Wi_ Wl)* Gv— VA1 , EMi:(Wi— Wl)* GM— MAi 5 i=2 N-1

7. k=1000X(1- Gu/Gyo)
k

7.1.4

1. 1uv 10uv

2.

1.

46/51



EMC2020 47/51

2.
3.
+ 10UV v, t;
0 1 2 3 4 5 6 7 8 9
0 100 | 200 |300 [400 |[500 |600 |700 |800 | 900
Poi (kPa)
0.500 | 0.900 | 1.300 | 1.700 | 2.100 | 2.400] 2.700| 3.100 | 3.400 | 3.700
Vi (V)
Vi (V)
P, (kPa)

k=1000X(1-250XXZ Vi/Z ( Pi- Po ))

0.500v .

47/51



EMC2020 48/51

7.1.5

0.1Q

1. 100Q t;
2. 138.5Q Tioo

k=1000-10X (thO_ to)
k

100Q -

48/51



EMC2020 49/51

7.1.6
0.1Q
1.
2.
3.
BJ8
o1
14
O
}Z 15
03
o |16
04
o |17
05
0|18
06
o |19
o7
o |10
08
(@]
09
(o]
010
o
011
o]
012
o
013,
1. 100Q t;
2. 130.8Q L

k=1000-10X(ts- to)
k

49/51



EMC2020

50/51

7.

1.7

luv

10uv

100Q

0-40mv

+ 10uvV

t

50/51



EMC2020 51/51
1 2 3 4 5 6 7 8 9 10
0 100 200 300 400 500 | 600 | 700 800 900
i )
Oomv 4.095 | 8.187 [12.207 [16.395 [20.640(24.902[29.128 |33.277 [37.325
V5 (mV)
Vi(mV)
()
k=1000X(1-800/33.277XZ Vi/Z ( ti- t ))
k
Oomv -
7.1.8

51/51



